Aire et Périmetre de Triangles (F)

Trouvez I’aire et le périmetre de chaque triangle.
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Aire et Périmetre de Triangles (F) Solutions

Trouvez I’aire et le périmetre de chaque triangle.

h=132m

14.2 m 13.2m

54m
A =35.64 m?
P=328m

h =18 pi
19.3 pi 18.8 pi

]
12.5 pi
A=1125pi’
P = 50.6 pi

h=12.6 m

12.6 m| 15.7m

N
9.6 m

A = 60.48 m>

P=379m

h=142m

178m/ | \168m

|_|‘
19.7 m
A = 139.87 m>
P=543m

h=12.4 km

127 km/ | 16.5 km

i_l
13.4 km
A =83.08 km>
P=42.6km

h=12.7 pi

13.9pi / 18.3 pi

i_l

18.8 pi
A =119.38 pi°
P=51.0pi

MathsLibres.com




